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HOWE /T A —H

A

e TR EIMPa |+ B it 3. 5MPo + i #h FE4MPa [
[EFTYT=Fa—FkM - - -
E—AATT=Fa—FMw 8.2 8.2 8.3 [logMo=1.5Mw+9.1
HEE— A FMo(Nm) 2.48E+21 2.90E+21 331E+21| A g=771'°/16 X Mo/S"®
RUAMISRI=/854—5
B B E S (km?) 15967 15967 15967
SIREREVs(km/s) 3.93 3.93 3.93
FHEE o (g/cm’) 30 30 30
BIMEE u (N/md) 4.63E+10 4.63E+10 4.63E+10] 1y = p v&?
SE ARG /85 A—5 A 0 (MPa) 3.0 35 4.0
FETRYED(m) 3.36 3.92 4.48|Mo= 1 DS
BRIRAT & E Vr(km/s) 2.83 2.83 2.83|vr=0.72vs
Fmax(Hz) 6 6 6| EE R A RN BRALELNSHESNT-(E
I—F— K& fc(Hz) 0.019 0.018 0.017[fc=4.9 x 10°Vs (A 0 /Mo)"”®
AL AJLANmM/sD 3.63E+19 3.83E+19 4.00E+19|A=Mo x (4.9 x 10°Vs (A 0 /Mo)* x271)?
FARYT1ERR/5A—4
7 AR T4 DB ETESalkm®) 3259 3259 3259|Sa=0.2x S
FARYTARADFH T XY EDa(m) 6.72 7.84 8.96|Da=D x 2.0 + it F4Da/D=2.21FDa=D x 2.2
7 AR T A TOFEE—*> FMoa(Nm) 1.01E+21 1.18E+21 1.35E+21|Moa= 4 DaSa
T AR TA DG F/85A—5 A 0 a(MPa) 13.3 15.5 17.7| A 0 a=2.436Mo/S'®
O—F—RliE $ifca(Hz) 0.045 0.045 0.045|fca=4.9 x 10°Vs (A o a/Moa)'”*
55 B HAL L Aa(Nm/s?) 8.25E+19 9.62E+19 1.10E+20{Aa=Moa X (4.9 X 106Vs (A g a/Moa)*x 27r)°
FEITINYF1
T AR T4 DEFESal (km?) 2022 2022 2022
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FARYTARDFEHE T XY EDal(m) 8.08 9.43 10.78|Moa1= DalSal
7 AR FATDE—+>rMoal(Nm) 7.57E+20 8.83E+20 1.01E+21|Moa1=Moa x Sa1'®/ T Sai'®
BEFERDE—A2FNm) 9.67E+17 1.23E+18 1.40E+18
FARYTADIEF/854A—5 A 0al(MPa) 20.3 237 27.1| A o a1=2.436Moal/Sal'®
a—F—& K $fcal(Hz) 0.058 0.058 0.058|fca1=4.9 x 10°Vs (A g al/Moal)"?
|_EEHL LA (Nm/sD 9.93E+19 1.16E+20 1.32E+20|Aa1=Moal X (49 X 10°Vs (A gal/Moal)”*x27)*
B2FRINY T
7 AR T4 DEESa2(km’) 564 564 564
BERY 23 23 23
FARYTARDFHF XY EDa2(m) 427 4.98 5.69|Moa2= ¢ Da2Sa2
T AR TATDE—*>FMoa2(Nm) 1.12E+20 1.30E+20 1.49E+20{Moa2=Moa X Sa2'®/ T Sai'®
EREMBDE—F2MNm) 9.70E+17 1.13E+18 1.29E+18
FAR)TFADIETINSGA—% A 0 a2(MPa) 20.3 23.7 271| A 0 a2=2.436Moa2/Sa2'"®
a—F—R R #fca2(Hz) 0.109 0.109 0.109|fca2=4.9 x 10°Vs (A 0 a2/Moa2)"’®
5 B #AL N JLAa2(Nm/s) 5.24E+19 6.12E+19 6.99E+19
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T ARYTADE T35 4A—8 A 0 a3(MPa)) 20.3 23.7 27.1| A 0 a3=2.436Moa3/Sa3"®
I—F—REi&k & fca3(Hz) 0.100 0.100 0.100fca3=4.9 x 10°Vs (A 0 a3/Moa3)"”?
5EEBL A JLAaS(Nm/sD) 5.73E+19 6.68E+19 7.64E+19]Aa3=Moa3 x (4.9 x 10°Vs (A 0'a3/Moad)* x 277)2
SSRGS
EHESb(km?) 12708 12709 12709|Sb=S-Sa
ERY 535 516 516
#1FEE— A~ FMob(Nm) 1.47E+21 1.72E+21 1.96E+21|Mob=Mo—Moa
EREHOE—AF 1.19E+17 1.45E+17 1.65E+17
9 L) ZEDb(m) 250 291 3.33|Mob= 1 DbSb
5 1/%54—% A gb(MPa) 25 2.9 3.3| A 0b=2.436Mo/S"*
I—F— ik fc(Hz) 0.023 0.023 0.023fcb=4.9 x 10°Vs (A 0'b/Mob)'”®
55 B HAL A JL(Nm/s?) 3.07E+19 3.58E+19 4.09E+19| Ab=Mob X (4.9 X 10°Vs (A ob/Mob)"*x 2 71)?
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54 [ RPTRESEEHC LD

o 3MPa Ao 4MPa
T ZFa1—FMima 8.3 8.3
HEE— A2 FMo(Nm) 3.19E+21 3.26E+21
E—AVIIT=Fa—FMw 8.3 8.3
XOAMISRIZ/A5A—4
B B E R S(km”) 18866 15794
SIEEEVskm/s) 3.93 3.93
FEHEE o (g/cm’) 3 3
RIS 4 (N/m?) 4.6E+10 4.6E+10| = p vs?
TS S /835 4A—82 A0 (MPa) 3 4
E#9 XYED(m) 3.65 4.45[Mo=y DS
IRIT B IRE Vr(km/s) 28 2.8|Vr=0.72Vs
Fmax(Hz) 6 6| EERESMHENRAREENLHEINLE
fc(Hz) 0.019 0.021[fc=4.9 x 10°Vs (AT /Mo)""?
S5 EIHAL RN JLANNm/sD) 4.48E+19 5.47E+19[A=Mo x (4.9 x 10°Vs (A0 /Mo)* x 2 71)?
FAR)TLERTRINGA—E
7 ARYT 4 D#EFESa(km?) 3838 3229
FARYT4HDFEF XY EDa(m) 7.34 8.95|Da=D x 2.01
T AR T4 THIE—+> FMoa(Nm) 1.30E+21 1.34E+21|Moa= 4 DaSa
T AR T4 DERIE I35 2A—5 A 0 a(MPa) 13.4 17.8| A0 =2.436Mo/S'®
fe(Hz) 0.042 0.046fc=4.9 x 10°Vs (A 0 a/Moa)'”*
SEREIZAL A IL(Nm/s?) 9.01E+19 1.10E+20]|A=Moa x (4.9 x 10°Vs (A0 a/Moa)* x 2 70)*
FARYT 41D EFESal(km?) 1158 929
BEFRH 36
FARYTA1IADFEHF RYEDal(m) 6.95 8.28|Moa1= 4 Da1Sat
T ARYTA1THE—H*>FMoal(Nm) 3.73E+20 3.56E+20[Moal=Moa X Sal1'®/ > Sai
FARYTA1 DS HI8FA—%8 Ao al(MP 23.1 30.7| A0 al1=2.436Mo/S'®
feal(Hz) 0.076 0.085|fc=4.9 x 10°Vs (A 0 a/Moa)"”*
EREHLAILNm/sD) 8.54E+19 1.02E+20|A=Moa x (4.9 X 10°Vs (AT a/Moa) 3 x 277 )?
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T AR TA2THDE—H*>FMoa2(Nm) 3.97E+20 4.47E+20[|Moa2=Moa x Sa2"’/ 3 Sai
T AR T 42D H71852—% A0 a2(MA 23.1 30.7| Ao a2=2.436Mo/S"®
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EFRH 48
T ART43IHNDFH ¢ XY EDa2(m) 7.84 9.49|Moa3= ¢t DaSa
T AR T 43 THE—+2IMoa2(Nm) 5.35E+20 5.36E+20|Moa3=Moa x Sa2'®/ = Sai
T AR T A3DIE N85 +2—52 A0 a2(MA 23.1 30.7| Ao a2=2.436Mo/S"®
fo(Hz) 0.068 0.074|fc=4.9 x 10°Vs (A g a/Moa)""?
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EEEE
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& 51785 4—% A 0 b(MPa) 2.4 3.3| A0 =2.436Mo/S"®
fc(Hz) 0.021 0.023|fc=4.9 x 10°Vs (A o b/Mob)"*
SEREIZALAIL(Nm/s?) 3.28E+19 4.05E+19[A=Mob x (4.9 x 10°Vs (A Tb/Mob)/* x 2 70)?
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